3 (Sem-3/CBCS) SKT HC 2

2021
( Held in 2022 )

SANSKRIT
Paper : SKT-HC-3026

( Poetics and Literary Criticism )

( Honours Course )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
' for the questions
UNIT—I
( Introduction to Sanskrit Poetics )

( Marks : 20 )

1. What are the objectives of Kavya according to
Mammata? o

TEEARYT T RIS
Or / 3191

Discuss' the definition of Kavya put forward by
Mammata.

T TG T =TT |
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2. Answer the following :
frafofaarm s 3ar—

(a) Quote from your memory the benedictory
verse of the Kavyaprakasa.

(3)

UNIT—II
( Forms of Kavya Literature )

( Marks: 10)

3. Discuss the definition of Mahakavya after
S | Mammata. 19
A HErHAwEeT T
(b) What is the definition of Dhvanikavya Or / /AT
given by Mammata?

ey wevert cafrmregom?
(c) What is Sakti? Discuss in short.
F J ARE? Gaor qudany

Write a note on the two varieties of Gadyakavya,
viz., Katha and Akhyayika after ViSvanatha.

T T AN 3 THAE WFETE By
foamaRfeET Srresaa |

Ak ? UnNiT—III
(d) Mention another term of ‘Alarnkaraéastra’. R itra )
. : ( Sabda-$akti and Rasa-siitra
STORTEE AR S |
. ( Marks : 20 )
(e) What variety of Kavya is said to be the best?
(S — 0 4. Explain : 10
AT FHI— ;
() What is the lowest category of Kavya? ETETR Tl TRIST SRy
4 Or / 3¥a7
© Fill up e blank : What is Dosa? How many categories of Dosa
R amt T — might occur in a Kavya? Discuss in brief,
TRy 3 e : ?
3 —— A 7 AW mmmﬁmﬁwm%.ﬂ%ﬁw
TSI |
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(4)

S. Find out Laksana in any two of the following :

2x2-4

STW FAT: FHOT o

F: S GG ; T |

6. Answer the following :

{a)

(b)

22A/34

How many varieties of Laksana are

recognised by Mammata? 1

WHITINR. @8O iy

Name any five Dosas found in the following :
1x5=5

ST TG G P (3 T 59—
() il v iy

(ifj T Zferrer |

(iii) T Frm A

(iv) R T

e ﬁﬁmﬁﬁmﬁ?mw,
(vi}) 39 9+ & miffy g

(vii) TEAOSEART ST s

{ Continued )

(S)

UNIT—IV
( Figures of Speech and Metre )
( Marks : 30)

7. Write a note on either Upama or Rupaka. 10

SIS YA SIRGF TG o TEar |

8. Define and illustrate any two of the followmng :
- 5%x2=10

Wz;ﬁﬁ;%;%'

; 5%x2=10
9. Define and illustrate (any two) :

Srerexel gam wedr () — |
W;q’{{aﬁﬁﬁ;a‘w;w'
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